Lattice 2 by 2

Name:

Use lattice multiplication to solve each problem.

b 69 x 97 =

2) 30x 64 =

3)

6)

9)

12)

75%x98 =

Answers

10.

11

12.
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Lattice 2 by 2 Name: Answer Key
Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
69 x 97 = 30x 64 = 75%x98 = N 6,693
6 9 3 0 7 5
8 10 4 7
5 9 1. 6 6 e |2 1,920
6 4 1 1|7 8 0 . 3.7 9
4 |6 1 o 5 14 ] |3 7350
2 3| 72 0| 6| . 0l|°
6 9 1. i 3 L 4 210
9 3 2 0 5 0
5. 1,860
4) _ 5) _ 6) _
21 x10= 60x 31 = 11x 22 = 6 242
2 1 6 0 1 1
0 210 0o
0 1 1. 3 0 2 || 516
0 2 1 1|7 8 0 0 2 |7 2
0 0 1o o 0 0o 8. 5,330
0 0 0 . '/6 0 1 ) ,/2 2
2 8 |.” 2
e 9, 3,250
1 0 6 0 4 2
10. 4,059
7) 8) 9)
12 x 43 = 82 x65= 65 x50 =
11. 5,642
1 2 8 2 6 5
0 0 4 4,’,' 1 6 3 2 5 || 12 1,675
0 4 8 5 8 , 2 3 0l|.”
0 0 14 11 0 o .~
3 5 2o
5 3 6 31~ O 0 2 0 ,," 0
1 6 3,70 5 0
10) 99 x41= 1) g1x62= 12) 25x67=
9 9 9 1 2 5
3 0 3 7
3 oK > .| ! 0|8
4 6 5 ’ o 4 i 1 2 |,7
0 0 <11 710 1 3 7
1 2 7
0 9 9 6| 8 2 6 4 ’," 5
5 9 4 .7 2 7 5
[ Math ] 1-10 [92]83[75] 67 [58]50] 42]33[25] 17]
a www.CommonCoreSheets.com 11-12]1 8] 0




	Worksheet
	Answer Key

